
SAP ABAP table CSLA {Activity master}

CSLA

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

LSTAR [CHAR (6)]

DATBI [DATS (8)]

LEINH [UNIT (3)]

AUSEH [UNIT (3)]

TARKZ [CHAR (3)]

TARKZ_I  [CHAR (3)]

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 CSLA-AUSEH = T006-MSEHI 
0..N

{0,1}
 CSLA-LEINH = T006-MSEHI 0..N

0..N
TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 CSLA-KOKRS = TKA01-KOKRS 
0..N0..N

TKA10

MANDT [CLNT (3)]

TARKZ [CHAR (3)]

 CSLA-TARKZ = TKA10-TARKZ 

0..N

{0,1}

 CSLA-TARKZ_I = TKA10-TARKZ 

0..N

0..N


